Service Provider: Magic Years Carpenterstown

Programme Year: 2024/2025

Status: Active

Fee Options

Fee Type Name	Age Range	ELC/SAC	ECCE Available ?	Session Start Time	Session Finish Time	Second Session Start Time	Second Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs per Day	Days per Week	Hrs per Week	Full Fee	Fee (with ECCE deduction for 3 free hours)	Effective From	Effective To
Preschoo I	2y 8m - 5y 8m	ELC/SAC	Yes	07:30	18:15			Yes	Meal	Fees are paid monthly. Monthly rate €929. ECCE subsidy deducted from fee Sept to June	10.75	4	43	214	162.4	26/08/2 024	31/08/2 025
ECCE SESSION	2y 8m - 5y 8m	ELC/SAC	No	09:00	12:00			No			3	5	15	0	0	26/08/2 024	29/06/2 025
Nursery Full Day	0y 6m - 1y 3m	ELC/SAC	No	07:30	18:15			Yes	Meal	Monthly fee 1133 p.m, fees are paid monthly.	10.75	5	53.75	261		26/08/2 024	31/08/2 025
Nursery Full Day	0y 6m - 1y 3m	ELC/SAC	No	07:30	18:15			Yes	Meal	Fees are paid monthly. Monthly rate €997	10.75	4	43	230	0	26/08/2 024	31/08/2 025
Senior Wobbler / Playscho ol	1y 4m - 2y 8m	ELC/SAC	No	07:30	18:15			Yes	Meal	Fees are paid monthly. Monthly rate €1042	10.75	5	53.75	240	0	26/08/2 024	31/08/2 025
Senior Wobbler / Playscho ol	1y 4m - 2y 8m	ELC/SAC	No	07:30	18:15			Yes	Meal	Fees are paid monthly monthly rate €917	10.75	4	43	211	0	26/08/2 024	31/08/2 025
Senior Wobbler /	1y 4m - 2y 8m	ELC/SAC	No	07:30	18:15			Yes	Meal	Fees are paid monthly.	10.75	3	32.25	187	0	26/08/2 024	31/08/2 025

Playscho ol										Monthly rate €813							
Preschoo I	2y 8m - 5y 8m	ELC/SAC	Yes	07:30	18:15			Yes	Meal	Fees are paid monthly. Monthly rate €1056, less ECCE=€811	10.75	5	53.75	243	179	26/08/2 024	31/08/2 025
Preschoo l	2y 8m - 5y 8m	ELC/SAC	Yes	07:30	18:15			Yes	Meal	Fees are paid monthly. Montly fee €823 less ECCE=€675	10.75	3	32.25	190	151	26/08/2 024	31/08/2 025
Aftersch ool TERM TIME	4y 5m - 8y 1m	ELC/SAC	No	07:30	09:00	13:00	18:15	Yes	Meal	Fees are paid monthly. Monthly fee €611	6.75	4	27	141		26/08/2 024	31/08/2 025
Aftersch ool TERM TIME	4y 5m - 8y 1m	ELC/SAC	No	07:30	09:00	13:00	18:15	Yes	Meal	Fees are paid monthly. Monthly rate €695	6.75	5	33.75	160		26/08/2 024	31/08/2 025
Aftersch ool TERM TIME	4y 5m - 8y 1m	ELC/SAC	No	07:30	09:00	13:00	18:15	Yes	Meal	Fees are paid monthly. Monthly rate €542	6.75	3	20.25	125		26/08/2 024	31/08/2 025
Extende d half day Baby rate	0y 6m - 1y 4m	ELC/SAC	No	07:30	13:30			Yes	Meal	Fees are paid monthly €687	6	5	30	158		26/08/2 024	31/08/2 025
Extende d half day Snr wobbler	1y 4m - 2y 8m	ELC/SAC	No	07:30	13:30			Yes	Meal	Fees are paid monthly month rate €632	6	5	30	146		26/08/2 024	31/08/2 025
2/3rd day Baby rate	0y 6m - 1y 4m	ELC/SAC	No	07:30	14:30			Yes	Meal	Fees are paid monthly. Monthly fee €906	7	5	35	209		26/08/2 024	31/08/2 025
2/3rd day Snr wobbler rate	1y 4m - 2y 8m	ELC/SAC	No	07:30	14:30			Yes	Meal	Fees are paid monthly. Monthly rate €834	7	5	35	192		26/08/2 024	31/08/2 025
Aftersch ool NON TERM TIME	4y 5m - 8y 1m	ELC/SAC	No	07:30	18:15			Yes	Meal	Fees are paid monthly. Monthly rate €695	10.75	5	53.75	160		26/08/2 024	31/08/2 025
Aftersch ool NON	4y 5m - 8y 1m	ELC/SAC	No	07:30	18:15			Yes	Meal	Fees are paid monthly.	10.75	4	43	141	0	26/08/2 024	31/08/2 025

TERM TIME									Monthly fee €611							
Aftersch ool NON TERM TIME	4y 5m - 8y 1m	ELC/SAC	No	07:30	18:15		Yes	Meal	Fees are paid monthly. Monthly rate €542	10.75	3	32.25	125	0	26/08/2 024	31/08/2 025
Nursery Full Day	0y 6m - 1y 3m	ELC	No	07:30	18:15		Yes	Meal	Fees are paid monthly. Monthly rate €883	10.75	3	32.25	204		26/08/2 024	24/08/2 025
2/3rd day preschoo I rate	2y 8m - 5y 8m	ELC	Yes	07:30	14:30		Yes	Meal	Fees are paid monthly. Monthly rate €845. ECCE subsidy of €245 applied over 10months Sept to June. Monthly rate less ECCE €600		5	35	195	130.5	26/08/2 024	31/08/2 025
Extende d half day preschoo l rate	2y 8m - 5y 8m	ELC	Yes	07:30	13:30		Yes	Meal	Fees are paid monthly. Monthly rate €650. ECCE subsidy of €245 applied over 10months Sept to June. Monthly rate less ECCE €405		5	30	150	85	26/08/2 024	31/08/2 025

Fee Extras

Туре	Extras	Amount	Description	Additional Details/Conditions	Effective From	Effective To
Deposit		0	No deposit required		26/08/2024	31/08/2025
Discount		0	10% sibling discount for sibling attending 4 or 5 days. 6% discount for sibling attending 3 days.		26/08/2024	31/08/2025
Additional Services		133	BUS SERVICE	After school children that require bus service (drop off and collection from school) there is an additional charge of €133 for bus service every term (Sept/ Jan/ April)	26/08/2024	31/08/2025